Qu ckc)f“oj_l‘cS‘ = COMP)QT’ﬁa TI")& S‘ZUOU—Q—

W hen you afe osked 1o comfla—"l'a the sguare, 'H'\e.)( wanl you

+o qe €rem 'FCX)'—‘— OQ(-L-)' EX x k] +o 'FC)O'-'-' a(x—h)"+k
Where O,,I() is 'H\G- Vf-l'"'u.

ShorTedl = use if onl)r the ":l'r\e..\ answer is neeAaA

@ Note thel "ol is the same {for beath,
h=%s , k=F(

=2.°~

@ Find the vertex, (hK):
@ Svbstifute = h) k nte £60= G(X" "D"‘f‘ K

Qr\A Yev aRre Aone_,/

The long, Tedious methed when you musT show all sTeps:

Exq,mple.: Com plejl The Sq vare. 78 convert £6O= 2= 12+ 14
to the VerTex form.

@ Pt Pare_n_H—\p_‘g'eS' arcund the cLuaJ.ra:h‘c and lineas 'I'v.rmg then
facter “q" oul o ’H-\&paran'f%efe-_f .

=2 — 12x + 14
= 20k -5 x) + 14
£ = 20> -6 x) + |4

@ Tsxk&—%: of Hhe linear cOe:q:fcfen—l— "zl—("é>= -3

@ Square VT é'3>1 =+q
@ Add i1 incrde The Po.re_n'H-\e_res; bot 7o keep QV"-F)/-H'}/'nS ’Hv&SQMQD
sv Lf‘rq.c:'f" Ci" oJrS I.;J_g_ o 'f'f«a qum"H\e{P—S.

Ro=2(5- gx+ D+ I 1= 2(8)!

DGULL& c)uz.k Wl"H1
shorteut ! = qis 12A. 3
h___(:n_zz,.)_:a becavse the 2. multiplies Jou n to mu H-’P}
2 "W ‘ Qvu/ﬂ,fns |'ns-/'cJe7 fnclucll'rj +he 9 Ly +he 2. before
K=2@F-nG)+H=—4 He G .., ﬂ)\a’("fac'hhi.
so (h K= G~H)
and =2 RO=2G2-6x+9) +11-17
sobetit e 2 | This ParT 15 nol/ o PU.C&T sgrare
FGO= (-3 =} FO=2(x~-DG-D -4
Same. reSof‘f; lgg_s- mrk!
'F(X>=7-(X‘3>l -4 vertex —Qrmj with averlex of (BJ—LD




